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FrV: FrO1 vs Fr05 at each truss

organ|D=TO1 organ|D=T02 organ|D=T03
80 A 13
—}—  FrOlavg 40 4 —}— FrOlavg FrO5avg
FrO5avg FrO5avg | 12 A —}— FrOtlavg
60 -
30 A 11 -
I
40 - 20 - 10
9 -
20 - 10 -
8 -
O - T T T T T O | T T T T T 7 T T T T T T T
16 18 20 22 24 16 18 20 22 24 14.25 14.50 14.75 15.00 15.25 15.50 15.75
age age age



FrV trend at each age
age=15 age=20 age=25
30 4 80
—}—  Fr0tavg | 901 | —}— FrOtlavg —}— FroOtlavg
25 FrO5avg FrO5avg | 70 - FrO5avg
40 11
20 41 60
\ \
1541 30 11 50 -
10 + 40 A
20
5 30
0 L T T T 10 | T T 20 B T T
TO1 T02 T03 TO1 T02 TO1 T02
organlD organlD organlD




FrV: model Est vs obsFrV at Q90
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